FEE  S=1: 20

2360 (¥£13)

SEEREETLX

FEmE mIEFr S=1:20

2500

200

2180

120

1)/ % iRNE

550

2360 (F19)

EER IOV Y

2500
200‘ 2180 ‘120
o
Lo
Lo
BrmmX S=1: 20
2180
SEBEHERIOVY
[ -
i
o
N
O,
@
1580
E3 » = V
avyy—r7JOv IR
i1l 1.2 m2 HEHLER t=6cm
- 0.6 m2 L HEILAZIL 1:3  t=3cm
REREER ) : DE&# (RC-40) t=30cm
RETHEHRQ) 0.5 m2 | OR4L1EE®  t=3em

[(ET&EAO~W®] 19&FH
18frEY GIBEFERSR)

fEEI V=1.2%2.36=2. 83m3
FRELTHER(2) V=0 5%2.36=1.18m3

AV —rJRYIRE - BRE  A=3.92m2
A=AV IHRRE  A=1.4Tm2
& (RC-40 t=30cm) (1) A=2.18%2.36=>5. 14m2

Xt H R 300+3005T R ER B (RHRED 7))

= i X

5 AR ITHUURGERRE TH

11 TEK - WEN | R H R

HTEG 7% T A o BT

mE ® mE

oW b &5




